UNIT 15+16
Choose one word whose the underlined part is pronounced differently Identify your answer by circling the corresponding letter A, B, C or D.

	1. 
	A.
	enormous
	B.
	orbit
	C.
	Moscow
	D.
	tornado

	2. 
	A.
	accident
	B.
	mind
	C.
	accident
	D.
	experiment

	3. 
	A.
	milestones
	B.
	decisions
	C.
	hometowns
	D.
	sense

	4. 
	A.
	earth
	B.
	death
	C.
	birth
	D.
	northern

	5. 
	A.
	launch
	B.
	change
	C.
	technical
	D.
	March

	6. 
	A.
	site
	B.
	hidden
	C.
	flight
	D.
	mind

	7. 
	A.
	lance
	B.
	space
	C.
	age
	D.
	chart

	8. 
	A.
	edit
	B.
	enclose
	C.
	escape
	D.
	explain

	9. 
	A.
	orbit
	B.
	order
	C.
	offer
	D.
	organ

	10. 
	A.
	status
	B.
	circus
	C.
	cactus
	D.
	result


II. Vocabulary

Choose from the four options given (marked A, B, C, and D) one best answer to fill in the blanks from.
On 21 December 1968 the United States (11)_____ Apollo 8 from the Kennedy Space Center. The astronauts on (12)_____, Frank Borman, James Lovell and William Anders, were the first humans to (13)______ to the moon. They (14)______ the moon ten times and sent television (15)_____ of its surface back to Earth.

On 16 July 1969 Apollo 11 was launched. Neil Armstrong, Edwin Buzz' Aldrin and Michael Collins went (16)_____ space with the lunar module, the Eagle, which would land on the moon.

Six hours after a successful (17)_____ on the moon, Neil Armstrong was ready to leave the Eagle. He wore the special (18)_____ and heavy boots. He placed his foot on the moon's (19)______ and said "That's one small step for a man, one giant (20)_____ for mankind.

	11. 
	A.
	started 
	B.
	launched
	C.
	controlled
	D.
	took off

	12. 
	A.
	board
	B.
	deck
	C.
	space
	D.
	ship

	13. 
	A.
	get
	B.
	travel
	C.
	journey
	D.
	move

	14. 
	A.
	circled
	B.
	rounded
	C.
	surrounded
	D.
	orbited

	15. 
	A.
	photos
	B.
	images
	C.
	pictures
	D.
	figures

	16. 
	A.
	to
	B.
	up
	C.
	into
	D.
	away

	17. 
	A.
	grounding
	B.
	landing
	C.
	staying
	D.
	traveling

	18. 
	A.
	space-suit
	B.
	space-clothes
	C.
	space-wear
	D.
	space-outfit 

	19. 
	A.
	soil
	B.
	surface
	C.
	exterior
	D.
	floor

	20. 
	A.
	jump
	B.
	leap
	C.
	skip
	D.
	walk


Choose from the four options given (marked A, B, C, and D) one best answer to complete each sentence.

21. He seldom goes to the market_____?

A. doesn't he
B. does he
C. is he
D. isn't he

22. You don't want another ice cream,_____?

A. won't you
B. don't you
C. do you
D. aren't you

23. Tom_____ buy a new house last month.

A. were able to
B. did he able to
C. was able to
D. is able to

24. The Braves would like to win another World Series,_____?

A. don't they 
B. wouldn't they
C. won't they
D. will they

25. How______ to convince him to come to the exhibition last week?

A. could you
B. were you able
C. can you
D. did you able
26. My grandfather_____ walk without any help last night

A. was able
B. were able to
C. can
D. was able to

27. I would like to _____ play the piano

A. can
B. could
C. am able to
D. be able to

28. The children won't want to go to bed early,______?

A. do they             B. does he        C. will they   D.won't he

29. After all this time you'd think he'd have forgotten_______?

A. didn't you

B. wouldn't you

C. don't you

D. do you

30. After working so hard he didn't deserve to fail the exam_____?

A. doesn't he
B. did he
C. won't he
D. is he

31. I was very angry _______ Tom, because he was very rude______me.

A. about - with 
B. at - with
C. with - about
D. with - to

32. The subject,________we are going to discuss, is very important

A. Who
B. that
C. which
D. both A and C are correct
33. The decision of the university to close the swimming pool at weenkends______ an angry reaction among students.

A. awakened
B.created
C. provoked
D. stimulated

34. Students on the new technology course became very______at the lack of suitable books in the library.

A. tired
B.despondent
C. frustrated
D. sad

35. In the seventeenth century, William Harvey showed that blood______ around the body on a continuous basis.

A. runs
B. flows
C. circulates
C. pours

36. Bob says there's never anything worth watching on TV but_____ for hours watching the football.

A. He'll sit
B. he'd sat
C. he is sitting
D. he sit

37. This film is really sad. I think_____

A. I'm going to cry
B. I cry
C. I'll cry
D. I'm crying

38. I'm really bored_____ eating chips. Can't I have something else for a change?

A. of
B. from
C. about
D. with

39. The more exercise you do, _____

A. so fitter you become
B. you become fitter

C. the fitter you become
D. fitter you become

40. There were_____ accidents during the holiday weekend that the government is bringing in tough new driving laws.

A. so much
B. many
C. so many
D. such

41. Suddenly_____ hungry, he stopped to buy a bar of chocolate.

A. felt
B. having felt
C. feeling
D. feels

42. After standing in the sun for more than an hour, two of the people in the queue______

A. passed out
B. passed by
C. passed through
D. passed up

43. I've put Mr Matthew's papers in your green file, _____ is on your desk.

A. whom 
B. that
C. which
D. whose

44. I'd love to get______ from this pace for a few days. I really feel I need a break.

A. out
B. away
C. over
D. down

45. We can _____ the difficulty without too much effort

A. get away
B. get over
C. get off
D. get through

46. You have to be_____ your stupidity

A. ashamed of
B. ashamed for
C. ashamed over
D. ashamed about

47. the land and the house that you own are your_____

A. personal belongings
B. property

C. movable possessions
D. savings

48. Anybody who joins the army as a soldier has to accept that danger is an _____ part of the job.

A. inside
B. internal 
C. insistent
D. inherent

49. Students without the normal academic qualifications but who have relevant work experience may be offered a place on an easier diploma course on the_____ towards an MBA.

A. journey
B. rise
C. direction
D. route

50. In Egypt, water from the River Nile has been used for thousands of years to______ the dry desert land so that crops may be grown.

A. clean
B. irrigate
C. moisten
D. fundamental

III. Reading

1. Read the passage and choose the best answer A, B, C or D.

The exploration of Mars is (51)_____ carried out by means of satellites. A modern satellite takes about eleven months to travel the 720 million kilometers from the earth to Mars. When (52)_____  arrives, it goes into orbit (53)_____ the planet, circling it every two hours at an (54)_____ of about 300 kilometers above the surface. From there, it can send back to Earth much useful (55)_____ about the planet. There are plans to send more satellites to Mars. The next step will be to send spacecraft which can land on the planet and take samples of materials from the surface. (56)_____ have already designed a nuclear-powered vehicle which will be able to leave the spacecraft and travel up to 290 kilometers over the surface of Mars. This (57)_____ will take samples of soil and rock and report on the weather. Some of these special vehicles are extremely small and light. For example, one fitted with a television camera (58)_____ only seven kilograms and measures 61 centimeters long and 38 centimeters wide. These tiny machines cannot be operated from Earth by remote control (59)_____ radio signals take twenty-two minutes to (60)_____ Mars, so they will have to be programmed with enough "intelligence" to operate largely by themselves.

	51. 
	A.
	for
	B.
	being
	C.
	used
	D.
	not

	52. 
	A.
	he
	B.
	it
	C.
	she
	D.
	they

	53. 
	A.
	around
	B.
	under
	C.
	on
	D.
	from

	54. 
	A.
	longitude
	B.
	attitude
	C.
	latitude
	D.
	altitude

	55. 
	A.
	information
	B.
	story
	C.
	gold
	D.
	rocks

	56. 
	A.
	Artists 
	B.
	Motorists
	C.
	Engineers
	D.
	Architects

	57. 
	A.
	spacecraft
	B.
	vehicle
	C.
	designer
	D.
	tank

	58. 
	A.
	measures
	B.
	stands
	C.
	contains
	D.
	weighs

	59. 
	A.
	therefore
	B.
	so
	C.
	however
	D.
	because

	60. 
	A.
	surround
	B.
	reach
	C.
	capture
	D.
	record


61. Some of the most exciting and flavor dishes contain only basic ingredients


A
B
C
D

62. Even before you check in at the registration desk, you can expect that the 


A

hotel housekeeper has made your room ready in advance of your arrive.


B
C
D

63. The talk was about the effects of alcohol to the human body.


A
B
C
D

64. I am not sure whether either of these books are worth reading.


A
B
C
D

65. Qualifications are of no use unless they prepare you for the employment.


A
B
C
D

III. Reading

The leaning tower of Pisa is one of the most famous (66)_____ in the world. It is famous not because of its beauty or size, but (67)_____ it leans dangerously to one side. Each year the tower attracts thousands of (68)_____ from all around the world.

(69)_____ the tower leans to the south and also curves towards the north. It is said that the tower has leaned more than 17 feet. Over the past years, various proposals (70)_____ been made to stop the tower from leaning (71)_____ and to prevent its collapse. Some people would like to pull it down and rebuild it (72)_____ stronger foundations. Others have suggested pouring (73)_____ around the base of the tower to stop it from leaning futher. If nothing (74)_____ done, the tower might collapse very soon. But until it is rebuilt or straightened, it will remain as one of the most fascinating (75)_____ mistakes in the world.

	66. 
	A.
	buildings
	B.
	cities
	C.
	towns
	D.
	schools

	67. 
	A.
	nevertheless
	B.
	because
	C.
	for
	D.
	when

	68. 
	A.
	visitors
	B.
	flies
	C.
	dollars
	D.
	birds

	69. 
	A.
	tomorrow
	B.
	sometimes
	C.
	yesterday
	D.
	today

	70. 
	A.
	had
	B.
	have
	C.
	will
	D.
	are

	71. 
	A.
	downwards
	B.
	much
	C.
	westwards
	D.
	further

	72. 
	A.
	on
	B.
	under
	C.
	in
	D.
	around

	73. 
	A.
	water
	B.
	straw
	C.
	concrete
	D.
	ropes

	74. 
	A.
	will
	B.
	is
	C.
	was
	D.
	become

	75. 
	A.
	biological
	B.
	artistic
	C.
	literary
	D.
	architectural


2. Read the passage and choose the best answer A, B, C or D to the questions 31-35:

The Taj Mahal, in India, is one of the most beautiful buildings in the world, built over 300 years ago by the Shah Jehan as a tomb for his wife. Shah Jehan loved his wife very much. He wanted the tomb to be perfect, that's why he did not care about the time and money. Bearing this thought in mind, he found the finest workmen in all Asia to work on the building. It took over seventeen thousand men over 20 years to complete it. In front of the main entrance to the building, there is a long narrow pool. If you look in this pool, you will see all the beauty of the Taj Mahal in the reflection from the water.

Some people think the Taj Mahal is the most beautiful at sunset when the reflection of the building in the pool gleams like ruby. Others like it best at noon. Many think it is the most beautiful by moonlight. On nights when the moon is spending the night beside the pool. When morning comes and the Taj Mahal turns from silver to gold in the early sunshine, they go away, to return perhaps when the moon is full again.

76. When was the Taj Mahal built?

A. more than 300 years
B. about 300 years

C. 300 years

D. over 300 years

77. What shape is the visible moon when hundreds of people stay overnight outside the Taj Mahal?

A. round 
B. half - round
C. oblong
D. crescent - shaped

78. When does the Taj Mahal appear to have a reddish colour?

A. in the early morning
B. at midday

C. at sunset

D. at night by moonlight

79. How many man - years did it take to build the Taj Mahal?

A. more than 340

B. more than 3,400

C. more than 34,000
C. more than 340,000

80. What relation was Shah Jehan to the person buried in the Taj Mahal?

A. father
B. husband
C. son
D. wife

IV. writing

 Complete the second sentence so that it has a similar meaning to the first sentence, using the prompts given in bold.

81. We could fly. Another way is going by train      

either … or

82. She will have to study hard. She will have to concentrate to do well on

not only … but also

83. The speaker will not confirm the story. He will not deny the story.

neither… nor

84. Pneumonia is a dangerous disease. Small pox is dangerous illness.

both … and

85. Smoking isn't good for your heart. Drinking isn't good for your heat.

neither … nor

Choose the underlined word or phrase in each sentence that needs correcting.

86. If you are hungry, eat some of the pears, oranges but grapes in the fruit bowl.


A
B
C
D


87. The waitress, hoping her would get a big tip, put the check on the table.


A
B
C
D

88. The provincial government is offering Bristol Corporation a $10 - million 



A

incentive package to build a new office building in the center of Selisburg.

B

C

D

89. Clients using travel agency vouchers should stay in hotels that accept 


A
B
C

vouchers and should present it on arrival.



D

90. Why certain plants contain alkaloids remains a mystery, although 


A

B
C

botanists have formulated a number of theory to explain it.






D

2. Choose the sentence which has the same meaning as the given one.

91. The weather seems to be improving

A. It looks as if the weather is improving

B. It looks as if the weather be improving

C. The weather looks that it is improving

D. The weather looks as if it be improving.

92. We'd expected there to be more spectators at the match.

A. There were as many spectators at the match as we'd expected

B. There weren't any spectators at the match as we'd expected.

C. There were more spectators at the match than we'd expected.

D. There weren't as many spectators at the match as we'd expected.

93. University regulations state that students must pass 18 modules to graduate

A. The University requires a student to pass 18 modules in order to graduate

B. University students are stated to need 18 modules passed so as to graduate

C. University regulations make 18 compulosry modules for graduating students

D. University regulations say that students must not do more than 18 modules.

94. Anybody driving a car is obliged by law to have insurance.

A. Anyone traveling in a car must have insurance, according to the law

B. Car drives oblige the law to have insurance 

C. Everyone driving a car is obliged by the law of insurance.

D. The law obliges all car drivers to have insurance

95. On the basis of their examination results, it was clear that most students had completely misunderstood the first part of the paper

A. The examination results for the first part of the paper showed that most students had misunderstood it.

B. One could clearly see from most of the students' examination results that the first part of the examination paper had been completely misunderstood by them.

C. The fact that most students misunderstood the first part of the paper makes it clear that their examination results were low.

D. It is not clear why most students had misunderstood the first part of the examination paper and got poor results.

96. It was reported that someone had attacked and robbed Brian in the street (been)

Brian was reported _____________________ and robbed in the street.

97. It is known that Japan produces a wide range of cars. (know)

People ________________________ a wide range of cars.

98. We consider that she is the best singer. (to)

She __________________ the best singer.

99.The tyres have been found to be unsafe (are).

We have found that _______________________

100. They expect the repairs to be very expensive indeed. (is)

It ______________ the repairs are very expensive indeed.

 Answer key

(Unit 15+16)

	1 
	d
	10 
	D
	19 
	B
	28 
	C
	37 
	A
	46 
	A

	2 
	d
	11 
	B
	20 
	B
	29 
	B
	38 
	D
	47 
	B

	3 
	c
	12 
	A
	21 
	B
	30 
	B
	39 
	C
	48 
	D

	4 
	d
	13 
	C
	22 
	C
	31 
	D
	40 
	C
	49 
	D

	5 
	c
	14 
	D
	23 
	C
	32 
	C
	41 
	C
	50 
	B

	6 
	B
	15 
	C
	24 
	B
	33 
	C
	42 
	A
	51 
	B

	7 
	D
	16 
	C
	25 
	B
	34 
	C
	43 
	C
	52 
	B

	8 
	A
	17 
	B
	26 
	D
	35 
	D
	44 
	B
	53 
	A

	9 
	C
	18 
	A
	27 
	D
	36 
	A
	45 
	B
	54 
	D

	55. 
	A
	64. 
	C
	73. 
	C

	56. 
	C
	65. 
	D
	74. 
	B

	57. 
	B
	66. 
	A
	75. 
	D

	58. 
	D
	67. 
	B
	76. 
	D

	59. 
	D
	68. 
	A
	77. 
	A

	60. 
	B
	69. 
	D
	78. 
	C

	61. 
	B
	70. 
	B
	79. 
	D

	62. 
	D
	71. 
	B
	80. 
	B

	63. 
	C
	72. 
	A
	
	


81. We could either fly or go by train

82. She will not only have to study hard but also (have to) concentrate to do well on the exam.

83. The speaker will neither confirm nor deny the story

84. Both pneumonia and small pox are dangerous diseases.

85. Neither smoking nor drinking is good for your health.

	86.C
	88.C
	90.D
	92.D
	94.D

	87.C
	89.D
	91.A
	93.A
	95.B


96. to have been attacked

  97. know that Japan produces

98. is considered to be

99. the tyres are unsafe

100. is expected that
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